
Predecessor and Successor 
 

1. Answer the following questions :- 

a. Write the predecessor of 1,00,00   =     

b. Write the successor of 9899    = 

c. Write the predecessor of 2,65,78,000   = 

d. Write the successor of 3,76,999   = 

       

2. Answer the following questions :- 
a. What is the successor of greatest two-digit number?   

b. What is the predecessor of smallest three-digit number?   

 

3. Fill in the blanks.  

a. Successor of 3-digit smallest number +99 is equal to   

b. Predecessor of 5-digit smallest number –999 is equal to  

c. Successor of 4-digit largest number –1 is equal to   

d. Predecessor of 5-digit largest number –9999 is equal to  

 
  


